RELIABLE = @ (€

& 0] {5 #i Ay 4k &

BEN TR T

EEEEEE



Product Catalogy
F@mER

NIZELFER$T 0 BY
GAMMA 11

nIEIBER$T 0 BY

GAMMA Intramedullary Nail IT

REMIET / 3T R 51

Intramedullary Nail & Locking Screws System

m LRI OB, AR ERAH E e

m S5

-fii ffE 2y e i, 5 AR

m REER LA, a5 R R R IR

RS
Product No.
10607—117/120
10607—-217,/220
10607-317,/320
10607—417 /420
10616—124
10616—324
10616—524
10616—724

E1Z (mm)

Dia
9

10
11

12
9

10
1"
12

KE (mm)
Length

170,200

240




WASTON 25

I C A L

10615 Fmms EZ (mm) | K& (mm)
MIZRYBEAST O A /(4R ) Product No. Dia Length
GAMMA Intramedullary Nail II (Extra-long) 10615—(132 ~ 142) ZL
10615—(232 ~ 242) | & R 9 | 320/340
10615— (332 ~ 342) £ L /360,380
10615— (432 ~ 442) &R 10| /4007420
H 10615— (532 ~ 544) | £ L 320/340/360,/380
10615— (632 ~ 644) | # R Y a0 /a0/0

10623

R 2ET O BY FR%S | EfR (mm) KB (mm)

GAMMA Locking Screw II Product No. Dia Length

10623—(070 ~ 120} 10 | 70/75,/80,/85,/90,/95,/100,/120

————— e

10625 (=g PR K (mm)

g Product No. High

End Cap :@m";—‘_:t 10625— (025 ~ 040) 25,40

10624

EJ@ WET Product No. Dia Length

Locking Bolt 26 ~ 60(2mm — 514 |
10624— (026 ~ 100) 5 64,/68/72/74/76/78

e /80,/85,/90,/95,/100




Intramedullary Nail & Locking Screws System

10630
REBEAST (X RIIEHR)

Femoral Intramedullary Nails (Professional X Series)

— FRRES Ef (mm) | KB (mm)
s, * N4
FRAE AT 0t Product No. Dia Length
GAMMA Intramedullary Nail III (Standard) 10630— (118 ~ 124) 95
: 180,200/
10630—(218 ~ 224) 10 220,240
% 10630— (318 ~ 324) 11
10630—(132 ~ 142) = L 95 |320 ~ 420
BE 10630— (232 ~ 242) AR '
GAMMA Intramedullary Nail III (Reconstruction) 10630— (332 ~ 344) Z L 10
10630— (432 ~ 444) H R 320 ~ 440
10630— (532 ~ b44) £ L 11
10630— (632 ~ 644) AR

x: EZPATRETEHR. 8 20mm - £H 4 R 10624 5], ERXBBTE T TBHEKREM
BFENRETET, EiwiEH 2 R 10633 1 /1885], mimit A 2 R 10624 §i§]

Note: Standard type is used for fracture of femoral shaft, in 20mm increments. Choose 4pcs 10624 locking screws
Reconstruction type is used for subtrochanteric fracture and ipsilateral fracture of the femoral neck and shaft.

Choose 2pcs 10633 lag screws for Proximal end, 2pcs 10624 locking screws for distal end

10633 fi 14847 111 &Y RS H % (mm) K (mm)
GAMMA Locking Screw III Product No. Dia Length
m 10633—(065 ~ 11b) 6.4 65—115

E: 8§ 5mm A—Hig

In Smm increments.

10624 RS HfE (mm) K (mm)
ImiwsET (T/S) Product No. Dia Length
Locking Bolt 26 ~ 60(2mm —#i#% )
W 10624— (026 ~ 100) 5 64,68/72/74/76/78/8
0/85,/90/95/100

10631 $J1E (FFAED) e .

AR R AE f
End cap (Standard) Product No. standard

' 10631—535

10632 g ( hnicE! )
End cap (Extra-Long) RS K& (mm)

Product No. Length
' I' w W 10632— (005 ~ 020) 5/10/15/20




WASTON 28

M E D I C A L

BEEHEANET XRINERR) Eome EE ) -

Tibial Intramedullary Nails (Professional X Series) Product No g -
10617—(255 ~ 375) 8.4 255/270/285/
10618— (255 ~ 375) 9 300/315,/330/
10619— (255 ~ 375) 10 345,360,375

i BRTREBTEN. THRBH, —BoBRETFAXTRENHMPILON G, & 15mm H—HHE | ik 3 7Lik
F3 10627 5T, HEik s 10626 957

Note: Used for fractures of tibial shaft, metaphysis,tibial plateau and PILON. In 15mm increments. Choose 3pcs
10627 locking screws for Proximal end, Others 10626 locking screws for distal end

R B &k - = P

10626 BB $i§T RS B2 (mm) K& (mm)
Locking screw Product No. Dia Length
. 10626— (024 ~ 088) 4.5 2488
E: 8 2mm H—Ht

In 2mm increments.

10627 #ABiE ST = RS B (mm) K (mm)
Cancellous locking screw Product No. Dia Length
m 10627— (025 ~ 090) 4.8 25-90

7. B 5mm A—HA
In 5Smm increments.

10629 &g ( FRAER!) = ppe KA
End cap (Standard) Product No. standard
10629—-000
E ' 10629—008
10628 g (<) Frogme K (mm)
End cap (Extra-Long) Product No. Length
10628— (005 ~ 015) 5/10/15




REMIET / 3T R 31

Intramedullary Nail & Locking Screws System

10601
AR BBERET (T/S)

Femoral intramedullary nails

Vg_s
v’ -

,,_1:__7

1
1
1
1

KRGS
Ti Product No.
0601—(132 ~ 142)
0601—(232 ~ 242)
0601—(332 ~ 342)
0601— (432 ~ 442)

AFENES | EE () KE (mm)
SS Product No. Dia Length
20601—(132 ~ 142) 9
20601—(232 ~ 242) | 10 300 ~ 420
20601—(332 ~ 342) | 11
20601—(432 ~ 442) | 12

F: BRATRE/MMEETERERL 50mm MEMETEH, & 20mm J—HE  ©EH 4 R 10622 4],
Used for fractures between sub-trochanter and S0mm upper from supracondylar of femur.
In 20mm increments. Choose 4 pcs 10622 locking screws.

10602
REBERENTT (£ / /) (T)

Reconstruction femoral nails

s
Product No.
10602— (132 ~ 142)
10602— (232 ~ 242)
10602— (332 ~ 342)
10602— (432 ~ 442)
10602— (532 ~ H42)
10602— (632 ~ 642)
10602— (732 ~ 742)
10602— (832 ~ 842)

E1% (mm)

Dia
L
AR o
£,
L "
AR
£

KE (mm)
Length

320 ~ 420

x: BRATRESEHFRETEN, §20mm h—HE, KA 2 R 10622 §{5] 2 R 10621 £ 114857,
Used for femoral neck fractures with the complication of femoral shaft fracture. In 20mm increments.
Choose 2 pcs 10622 locking screws and 2 pcs 10621 Gamma locking screws.

10603
AR B MEEERST (T)

GAMMA femoral nails

RS
Product No.
10603—124
10603—224
10603—324
10603—424

H1Z (mm)
Dia
9
10
11
12

K& (mm)
Length

240

E: BERTRESAEEREEES, & 20mm p—HR4&, EH 2 R 10622 §i5] 2 R 10621 £ /19857,
Used for fractures of femoral intertrochanter. In 20mm increments.Choose 2 pcs 10622 locking screws and 2

pcs 10621 Gamma locking screws.

10604
AR BER LBENSET (T)

Femoral supracondylar intramedullary nails

E: BRATREREERE 1/3 THEFR. &20mm A—H1E. E£H 2 R 10622 9§57 .2 R 10622 BT (£7F) .

FmEs
Product No.
10604—(118 ~ 138)
10604— (218 ~ 238)
10604—(318 ~ 338)
10604— (418 ~ 438)

E12 (mm)
Dia
9
10
11
12

KE (mm)
Length

180 ~ 380

Used for fractures of femoral intercondylar and below the 1/3 lower-femoral. In 20mm increments.
Choose 2 pcs 10622 locking screws and 2 pes 10622 Bone screws (full-threaded).




=

10605
BEEHA%T (T/S)

Tibial intramedullary nails

L

l‘

AYAY

WASTON

M E

DI C A L

AMmS

Ti Product No.
10605— (124 ~ 134)
10605— (224 ~ 234)
10605— (324 ~ 334)

AEMGES
SS Product No.
20605— (124 ~ 134)
20605— (224 ~ 234)
20605— (324 ~ 334)

KE (mm)
Length

240 ~ 340

A BATREBLEIVZUTERET 1/AMNENETER, & 20mm 3—HiE, KA 4 R 10622 §i5],
Used for fractures of shaft in a range below the 1/3 upper-tibial and above the 1/4 lower-tibial.
In 20mm increments. Choose 4 pcs 10622 locking screws.

10621
I SI4RET 1 B (T)

Gamma Lag Screws I

| — )

. Smm H— &
In Smm increments.

10622
@4 .0 $i5T (T/S)

Locking screws
W)

E. & 5mm A—HiE
In 5Smm increments.

10622
?5.0 §i§T (£F) (1)

Locking screws (Full-threaded)

AT

- Smm 4 —IAE
In Smm increments.

!#;

RS E1Z (mm) KE (mm)
Product No. Dia Length
10621—(050 ~ 110) HB7.0 50 ~ 110
KM RS AgRRES | EiR (mm) | KE (mm)
Ti Product No. SS Product No. Dia Length
10622—(120 ~ 195 |20622— (120 ~ 195)| 4 20 ~ 95
RS H1Z (mm) K& (mm)
Product No. Dia Length
10622—(350 ~ 385) HA5.0 50 ~ 85

A
AR




Intramedullary Nail & Locking Screws System

10605

& A E1T%EW%T ( HE":'%%T ) (T) Product No. Dia Length
Uil Bz il i il

niversa etrograde INai ( 10U al‘) 10605— (440 _ 428) 4 . 0 140/1 80/220/260/280
= 10605— (540 — 528)| 4.5

x: BATHEETE, R HA2T XABBURE]  KKABAYTHEAIT=ME

Used for fibular shaft fracture with HA2.7 self-tapping screw and universal retrograde nail instrument set.

10608 B s E £ (mm) K& (mm)
BRAFEITERE (R, %#84%7) (T) Product No. Dia Length
Universal Retrograde Nail (Ulna/Radius) 10608— (120 ~ 140) 40 200,220,240
- o 10608— (220 ~ 260) 4.5 220,240,260

. BRTR. BB TEN, EumEM HA2.7 NS BERERET, mimit A HA2.0 77 BERST ; L@ M 17hE
WETRMEIN 1.2 m7TEF, 1.5 %53k

Used for ulna and radius shaft fracture with HA2.7 hexagon self-tapping screw for proximal end and HA2.0 square self-tapping screw for distal end;equipped
with universal retrograde nail instrument set,1.2 square driver and 1.5 bit.

10622

HA2 O #8%4T  HA2.0 Screws

FmmEs E 1% (mm) KE (mm)
Covesensereee Product No. Dia Length
¥ H2mm A—E 10622 (714-722) HA2.0 14 ~ 22
In 2mm increments.
10502 HA2.7 984T  HA2.7 Screws Y= #4Z (mm) KB (mm)
(e Product No. Dia Length
SE. 5 2mm H—IAE 10502—(314 ~ 322) HA2.7 14 ~ 22
In 2mm increments.
10604 FRRs HiZ (mm) K& (mm)
BH iiﬁ%ﬁl*]ﬂ ( g*'t‘t%]- ) (T) Product No. Dia Length
Universal Flexible Retrograde Nail 10604—540 2.0
10604—640 2.5
10604—740 3.0 440
10604—840 3.5
10604—940 4.0
X BEATIEKERRN. MAHE. LHENR
Used for long tubular bone fracture in children and also clavicle and upper limbs fracture in adults.
10604
)= Fams K& (mm)
End Cap Product No. High
“ 10604—000 28




nIDBEA $TaRM 1B (PFNA)

Instrument Product

(PFNA) GAMMA Intramedullary Nails Instruments II

S

15045—001 3F 1% 54T

Proximal Targeting Device Handle

ﬁ}

15045—004 1241 E%
Threaded Guide

0}

15045008
SHEH

K-wire Screw Guide

H

15045—011 $B=4E

Sliding Hammer

— ]

15045—014 HIEEE
Locking Screw Guide

15045017 BIETMRR
Locking Screw Sliding Hammer

-~

15045—002 izim S+
Distal Targeting Device Handle

B

15045—005 3% jziZie
Connecting Bolt

15045—009 i’!

T EUBRIR T 1R

T-Quick Coupling Reamer Handle

| f—e=

15045—012 [&E4E
Fixed Hammer

——

15045015 4h%&
Drill Bit Guide

156045—018

EEBRIRTF (SW8)
T-poly Screwdriver (Hex/SW8)

)

/

15045—003 [& EFHH

Gamma Locking Nail Fixed Handle

15045—007 S[q82
Parallel Guide

—

15045—010 JJH B 4 &8
Helix Blade Extractor

-

15045—013 JIF T A%

Sliding Hammer

15045—-016 $HE%E
Pin Guide
15045—019

mim P EI N AEF (SW3.5)
Hex Screwdriver (Hex/SW3.5)



Instrument Product

~~ d 7N\
- t— ~
15045—020 3&3ES 4 15045—021 RIEZSIMEF + EKAF 15045—022 355EE R
Clean Pin Prolong Hex Screwdriver with End Cap Clean Brush
- L= e e
15045—023 JrubkBRALZ R 15045024 jfum 8B %h 15045025 iR E =10 85
Cannulated Drill & Slide Limited Device Rigid Reamer Cannulnted Drill
R P
— : 3 @ a
156045—-026 H%h (04.0) 15045—027 FFOKRF (SW11) 15045—028 F4TFT AR
Drill Bit (©4.0) Wrench (Hex/SW11) Sliding Hammer
= 3 —
15045-031 7] /R R 15045—-032 SHEE (03.2) 15045—033 AL R =5 (03.2)
Depth Gange Pin Guide (03.2) Obturator (03.2)

— g = -
e

16045—034 J] F A EIRF 15045—035 FETHUH 2% 15045—036 o 14F
Key for PFNA Blade Broker Screw Extractor Pin Wrench

. =

15045-037 H4S 4t 15045038 15045039 241 S4+
Guide Pin with Hook REAEANERETF (SW4.0) Threaded Kirschner Wire
Poly-screwdriver (Hex/SW4.0) With End Cap

= s
15045—040 156045041 156045042
BRRIR RARPIR T RR W E AT
Template Soft Tissue Protector Connecting Bar, Extraction
PFNA Blode




WASTON I

e
L=
R

15045—043,/143 /243
SRR SAT (170/240,/240)
Guide Bar (Static) (170/240/240)

Ic S |
15045—046

KETm i E AL 4R
Position Distal Outtigger

15045—049 44
Drill Bit

15045—052 S4ta| A%
Pin Guide

15045055

SEEFR
Guide Wire Holding Clamp

BRDYEEAGEEO

15045—058—958
By 713k (08.5-013)
Reamers (08.5-013)

FOICOOOE »«

15045—044
KETImumE & ST

Connecting Guide Bar

15045—047
SILFFFLRR
Cannulated Awl

15045—050

ELIFFEHE (05.2/08.1)
Position Rod Guide (©5.2/@8.1)

]

15045—053 iR F (SW5H)
Locking Screw Wrench (Hex/SW5)

15045—056,/156,/256
o AT 9% / E DR

Guide Bar Locking Screw/Connecting Screw

T

e et

15045—059
EARHR
Locking Block

15045—045
KETimin S4F
Guide Bar

15045-048

J3Lgh (05.2)
T-drill Bit (35.2)

15045—-051
LS4
Ball Tip Guide Wire

15045—054 /)\3RF (SW3.0)
Wrench (Hex/SW3.0)

15045—067 R T)4F

Flexible Reamer

ll_—

—

15045—060
QLA
T-handled Stabilizing Rod

A
AR




Instrument Product

15045 fMIDBEASTERIMEL 1B (PFNA)

(PFNA) GAMMA Intramedullary Nails Instruments 11

B RS
Product No.
15045—001
15045—003
15045—004
15045—005
15045—007
15045—008
15045—009
15045—010
15045—011
15045—012
15045—013
15045—014
15045—-015
15045—016
15045017
15045—018
15045—-019
15045—020
15045—021
15045—023
15045—024
15045—025
15045—027
15045—031
15045—034
15045—038
15045—039
15045—040
15045—041
15045—042

15045—-043,/143,/243
15045—044
15045—045
15045—046
15045—047
15045—048
15045—049
15045—050
15045—051
15045—052
15045—053
15045—054
15045—055

15045—056,/156,/256
15045—057

15045—058—958
15045—059
15045—060
15045—000

AR R TR

I 3% S+F

& E F1A

BOER

EEER

SEsR

SHES

T BRI F AR

TR A

BENEE

&

VIEADN

PETEE

HLEE (04)

HESLT (04)

DETMRR
EEERIRTF (SW8)
miwPET AN AIRF (SW3.5)
B S

EEZOEF + EKAF
s PR AT M
iy S8 Eh

s 2 U 208
FOHKRSF (SW11)

TR SRR

TR ERF
EMEARANHETF (SW4.0)
B S5t (03.2)

B EER

AP TR

TR EEAT
BESamim S4F (170,/240,/240)
KETImim % 3 54T
KETimim S4F

K $Tim i E A 32
=LA

F3L$h (05.2)

T (04.2)

ERAFELE (05.2/08.1)
Bk K S5t

SEEIUN

iR IRTF (SWH)

IMRFE (SW3.0)
SEITERS
SHzingiie / EER
Ry T4

By 713k (08.5-013)
ELL LR

ELLAF

BHE

Product Name

Proximal Targeting Device Handle
Gamma Locking Nail Fixed Handle
Threaded Guide

Connecting Bolt

Parallel Guide

K-wire Screw Guide

T-Quick Coupling Reamer Handle
Helix Blade Extractor

Sliding Hammer

Fixed Hammer

Sliding Hammer

Locking Screw Guide

Drill Bit Guide (94)

Pin Guide (04)

Locking Screw Sliding Hammer

T-poly Screwdriver (Hex/SW8)

Hex Screwdriver (Hex/SW3.5)

Clean Pin

Prolong Hex Screwdriver with End Cap
Cannulated Drill & Slide Limited Device
Rigid Reamer

Cannulated Drill

Wrench (Hex/SW11)

Depth Gange

Key for PFNA Blade

Poly-screwdriver With End Cap (Hex/SW4.0)
Threaded Kirschner Wire (03.2)
Template

Soft Tissue Protector

Connecting Bar, Extraction PFNA Blode
Guide Bar (Static) (170/240/240)
Connecting Guide Bar

Guide Bar

Position Distal Outtigger

Cannulated Awl

T-drill Bit (©5.2)

Drill Bit (04.2)

Position Rod Guide (05.2/08.1)

Ball Tip Guide Wire

Pin Guide

Locking Screw Wrench (Hex/SW5)
Wrench (Hex/SW3.0)

Guide Wire Holding Clamp

Guide Bar Locking Screw/Connecting Screw
Flexible Reamer

Reamers (08.5-013)

Locking Block

T-handled Stabilizing Rod

Instrument Case

<

o _HN_ N N N N N N O O O N R N O N O N

.—\_\__\_‘
(@)




M [

REEAETERM (X RIEXR)

Femoral Intramedullary Nail Instruments (Professional X Series)

15045—047
SILFHFLER
Cannulated Awl

I

15048—003
FRACERIRF (SW3.0)

Slide Limiting Device Wrench (SW3.0)
BRDOEARQEQO

15045—058—-958

713k (08.5-013)
Reamers (08.5-013)

16045—055

SEERR
Guide Wire Holding Clamp

15048—006 % FE12FFIRF (SW6.5)
Connecting Screw Wrench (SW6.5)

-

15048—009
PELIRF (SWH)
Locking Screw Wrench (SW5)

—

15048—001 1 fktR
Skin Protector

156045—-009

T B R F AR
T-shaped Quick Change Handle

16045—-057 XA T]4F

Reamer Rod

15048—004 3EF
Handle

Gy e

15048—007 FTik =%

Driver-extractor

15048—010
i ] IT s SAF (180—240)
Connecting Guide Bar (180-240)

e

15048—002 jrumbE & PR =%
Proximal Rigid Reamer & Slide Limiting Device

1
[

15045—052 S4+2| A 22
Wire Guide

15045—051
BT
Ball Tip Guide Wire

P
ey

15048—005 % IE IR 4F
Connecting Screw

p

15048—008 %%

Locking Screw

[¢ ¢ "4 4 4000000}

15048—011
i ST (320—440)
Distal Guide Bar (320-440)

WASTON TEZS




Instrument Product

15048—012 i E (2R
Distal Outrigger

H

15048—015 FHIHFFEL4h (@95.2)
T-handled Drill Bit (@5.2)

15048—018,/118
PETEE / ENITEE
Stabilizing Rod Guide

15048—020 HiETMHER
Depth Gauge for Locking Screw

156048—023
METRIERF (SW5/M3.5)
End Cap Wrench (SW5/M3.5)

156048026 =S5t (02.5x320)
Triangle Kirschner Wire (2.5x320)

|
]

15048—013/113

RAEARDERE (8) / (¥)
Soft Tissue Protector(Short/Long)

\_’_=__

15048—016 FE LA
T-handled Stabilizing Rod

15045—-01b5 [

hE (02.5/04.3/05.2/06.4)
Drill Bit Guide (92.5/04.3/35.2/06.4)

15048—021 [R¥GFIETIRTF (SW3.5)
Quick Change Wrench (SW3.5)

—

15048—024
ESTHRHERAT

Connecting Bar

15048—027 S4HMiR2E (©2.5%320)
Depth Gauge (92.5%320)

15048—014 ERATH % (05.2)
Drill Bit for Stabilizing Rod (©5.2)

L

15048—017 FEfIFiR
Locking Block

15048—019
BIETE h & Rfzw (04.3)
Drill Bit & Slide Limiting Device (04.3)

16048-022

REREET T EIRTF (SW6.5)
Quick Change Wrench (SW6.5)

15048—02b #4154t (@2.5%x320)
Threaded Kirschner Wire (2.5%320)

—

15048—028 &Fieh &BRAIRS (06.4)
Drill Bit & Slide Limiting Device (6.4)



15048 IR EBEAETERME (X RIIERR)

Femoral Intramedullary Nail Instruments (Professional X Series)

WASTON

M

E D I C A L

BHHE
Product No.
15045—-047
15048—001
15048—002
15048—003
15045—009
15045—052

15045—058—958
15045—057
15045—051
15045—055
15048—004
15048—005
15048—006
15048—007
15048—-008
15048—009
15048—-010
15048—011
15048—012

15048—013/113
15048—014
15048—015
15048—016
15048—017
15048—018
15045—015
15048—019
15048—020
15048—021
15048—022
15048—023
15048—024
15048—025
15048—026
15048—-027
15048—028
15048—000

AR B R

=ILFHELER

I RRAR

iR iEY QBRALRR
FRALEEIRTF (SW3.0)

T B F 4%

SEIEIPNS-

713k (08.5—013)
WY TIHTF

LS5t

SEHERE

£BF

BT

EEBATIRTF (SW6.5)
T =8

Ent

PR IRF (SW5)
iz im S4F (180—240)
ik S4F (320—440)
A R IVEES

BARNER (15 )/ RAGHER (K )
ENATEE (05.2)
ERATF L5 (95.2)
ERLAF

ENLFBR

PETEE / EATET
$hE (02.5/04.3/05.2/06.4)
PET B QPRALRS (04.3)
PIETIRR

TR PIETIRTF (SW3.5)
ik BT IR F (SW6.5)
M RMEIRF (SW5H/M3.5)
FETHRHEEA

BS54t (02.5%320)
=BS54 (02.56%320)
SEMREE (02.5%320)
Ak eh APRALEE (06.4)
wME

Product Name

Cannulated Awl

Skin Protector

Proximal Rigid Reamer & Slide Limiting Device

Slide Limiting Device Wrench (SW3.0)
T-shaped Quick Change Handle

Wire Guide

Reamers (08.5-013)

Reamer Rod

Ball Tip Guide Wire

Guide Wire Holding Clamp

Handle

Connecting Screw

Connecting Screw Wrench (SW6.5)
Driver-extractor

Locking Screw

Locking Screw Wrench (SW5)
Connecting Guide Bar (180-240)
Distal Guide Bar (320-440)

Distal Outrigger

Soft Tissue Protector(Short/Long)
Drill Bit for Stabilizing Rod (25.2)
T-handled Drill Bit (©5.2)

T-handled Stabilizing Rod

Locking Block

Stabilizing Rod Guide

Drill Guide (92.5/@4.3 / @5.2 / @6.4)
Drill Bit & Slide Limiting Device (04.3)
Depth Gauge for Locking Screw
Quick Change Wrench (SW3.5)
Quick Change Wrench (SW6.5)

End Cap Wrench (SW5/ M3.5)
Connecting Bar

Threaded Kirschner Wire (2.5%320)
Triangle Kirschner Wire (©2.5%320)
Depth Gauge (92.5x320)

Drill Bit & Slide Limiting Device (06.4)

Instrument Case

L SN




Instrument Product

BEEANSTEM (X RIEXR)

Tibial intramedullary nail Instruments (Professional X Series)

15045—-047

=0 FHeL=R (012/04)
Cannulated Awl (012 / ©4)

15045—-009

TRIRTF AR
Quick Coupling Handle

ol ——

15049—005
TILFELE (012/03.2)
Cannulated Chisel (012 / @3.2)

15045—052 S45t5| A\ 8%
Ball Tip wire Guide

HVDHEEREQO

15045—061,/161,/058—758
By 713k (07.5/08.0/08.5-012)
Reamers (07.5/08.0/08.5-012)

15049—001 3P RkR
Skin Protector

15049—-003
SERFR
Guide Wire Holding Clamp

15049—006
Y fLeh (012/03.2)
Proximal Rigid Reamer (012 / ©¥3.2)

—
15045—051
L F45 (02.5/04)
Ball Tip Guide Wire (92.5 / ©4)

15049008

'BF
Handle

15049-002 BER
Depth Gauge for Developed Image

\ _

15049—004 {RIPER (012)
Proximal Rigid Reamer Guide (012)

156049—-007

Bar 55t (03.2 x300)
Threaded Kirschner Wire (93.2x300)

15045—057 &3 JI+F
Flexible Reamer

!

15049—009
ERRE

Connecting Screw



WASTON I

F— =——

15049—010 JEIEIB#4RF (SW6.5)
Connecting Screw Wrench (SW6.5)

%

15049—013 /N R F (04)
Small Wrench (94)

o0 0oOoonn 330000000

15049015 S4F
Guide Bar

15049-017
EAATEE (05.2)
Drill Bit (95.2)

15049—-020
TE IR
Locking Block

16049011 F4THTIRIERES (M8 x
Sliding Hammer (M8x1)

=—

15049—014 BESEFF (M8 x 1
Sliding Hammer Guide Bar (M8x1)

—

15049-016

SIS (M8 1)/ T %2881

Vi ik

Guide Bar Locking Screw/Connecting Screw

15049—018
ERATF L (05.2)
T-drill Bit (35.2)

g

16049021 Jmim 42
Position Distal Outtigger

1)

D

15049-012 FO4RF (SW11)
Wrench (SW11)

k—

156045011 ;B4&E

Sliding Hammer

15045—053 itk F (SW5H)
Locking Screw Wrench (Hex/SW5)

15049—-019
TERLAT
T-handled Stabilizing Rod

- —— )

15049—-022 AL N EaE
Soft Tissue Protector

A
AR




15049—-023,/123
PETEE / ENTEE
Position Rod Guide

Instrument Product

15049—026
B FRAIRE (03.2/04.0)

Drill Bit & Slide Limited Device (93.2 / ©4.0)

15049—-029

RIGHIETIRTF (SW3.5)
Quick Coupling Wrench (SW3.5)

156049-032

ERBRTEIRTF (SWE.5)
Poly-axial Wrench (SW6.5)

-

15049—-024

SHE
Pin Guide

15049027 HIEMARR
Depth Gauge

2™

15049—030
Mim R

Proximal Outrigger

15049033

EIEAAHIRTF (SW3.5)
Screwdriver (SW3.5)

15049—-025 $hE
Drill Guide (93.2/@4.0 / ©5.2)

15049—-028
T BGIETHRTF (SW3.5)
T-wrench (SW3.5)

=—ﬁ

15049—031
INEIER (04,/M6,/SWE.5)

Compression Screw (@4 / M6 / SW6.5)

——

15049-034

FETEHERAT (M8 x 1)
Screw Extractor (M8x1)



WASTON

E D I C A L

M

15049 BRERENSTRME (X RIIERR)

Tibial intramedullary nail Instruments (Professional X Series)

RS
Product No.
15045—047
15049—001
15049—-002
15045—009
15049—003
15049—004
15049—005
15049—006
15049—-007
15045—052
15045—051
15045—057

15045—061,/161,/058—758
15049—008
15049—009
15049—-010
15049—011
15049—012
15049—-013
15049—-014
15045—011
15049—015
15049—-016
15045—053
15049—-017
15049—018
15049—-019
15049—020
15049—021
15049—022
15049—-023
15049—024
15049—-025
15049—026
15049—-027
15049—028
15049—-029
15049—030
15049—031
15049—032
15049—-033
15049—034
15049—000

AR R TR

ZILFFFLES (012/04)
P RRAR

BEER

R $0 F A

SEHRFFR

RIFEF (012)
=L (912/03.2)
imd fLEG (012/03.2)
124754t (093.2 % 300)
SEAEIPN:

L 545t (02.5/04)
By TIFF

B 713k (07.5/08.0/08.5-012)
EF

EEER

EEERIRTF (SW6.5)
FETFTIREZRS (M8 x 1)
FORFE (SWI11)

INRF (04)

BESEAT (M8 x1)
BE

ST

EESITHE (M8 x 1)
PLIRF (SW5)
ENATEE (05.2)
ENFFFLEh (05.2)
EALAF

ENF R

s 48

AN B

FETEE / ENHESE
SHE

HE

B ih APRAIRET (94.0)
DIENMRR

T BIPiETIRF (SW3.5)
RIEBIETIRTF (SW3.5)
M im 48

hNEE4E (04,/M6,/SW6.5)
EEER T EIRTF (SW6.5)
R AIRF (SW3.5)
FETEUH EZEAT (M8 x 1)
BWE

Product Name

Cannulated Awl (012 / @4)

Skin Protector

Depth Gauge for Developed Image
Quick Coupling Handle

Guide Wire Holding Clamp
Proximal Rigid Reamer Guide (912)
Cannulated Chisel (012 / ©3.2)
Proximal Rigid Reamer (912 / ¥3.2)
Threaded Kirschner Wire (43.2x300)
Ball Tip wire Guide

Ball Tip Guide Wire (02.5 / @4)
Flexible Reamer

Reamers (07.5/08.0/08.5-012)
Handle

Connecting Screw

Connecting Screw Wrench (SW6.5)
Sliding Hammer (M8x1)

Wrench (SW11)

Small Wrench (04)

Sliding Hammer Guide Bar (M8x1)
Sliding Hammer

Guide Bar

Guide Bar Locking Screw/Connecting Screw
Locking Screw Wrench (Hex/SW5)
Drill Bit (@5.2)

T-drill Bit (©5.2)

T-handled Stabilizing Rod

Locking Block

Position Distal Outtigger

Soft Tissue Protector

Position Rod Guide

Pin Guide

Drill Guide (¥3.2 / ©4.0 / ©5.2)
Drill Bit & Slide Limited Device (@3.2 / @4.0)
Depth Gauge

T-wrench (SW3.5)

Quick Coupling Wrench (SW3.5)
Proximal Outrigger

Compression Screw (94 / M6 / SW6.5)
Poly-axial Wrench (SW6.5)
Screwdriver (SW3.5)

Screw Extractor (M8x1)

Instrument Case

o

il

- R
<

N — — WO — — — s s s

RS SIEU UGN NIEGS'0 J S TR G Y G NG J G e G

L SN




Instrument Product

RENSTF R

Intramedullary Nails Instruments

15041—001 Bf/ESEF 4R 15041—002 S4F 15041-003 iz i Bff A S 32
Nail Support Handle Guide Bar Distal Outrigger
15041—-004 /104 15041005 S4F51% (M6) 15041—-006 % Z2%1%t (M8)
mEE# (M6/M10x 1) Guide Bar Locking Screw (M6) Outrigger Locking Screw (M8)
Locking Rod (M6 / M10X 1)

<_"0

H— ——— " ] ——l

15041—-008 15041—-003,/109 15041-010,/110,/210

T BERAT (05.0) THEE (010 &08.2 /011 & 09.2) HRARKHER (06/08/09)
T-Handled Stabilizing Rod (©5.0) Screw Guide (010 & @8.2 / @11 & ©9.2) Soft Tissue Protector (06 / Q8 / ©9)

]
l

15041-011/111,/211/311 /411 /511 15041012 15041-013
$hE (02.7/03.7/04.2/05.2/07.1) BS54 (92.5%250) MARR (50 ~ 110mm)
Drill Guide (@2.7 / ©3.7/@4.2/®5.2/@7.1) Threaded Kirschner Wire (2.5 X 250) Depth Gauge (50~110mm)

S— —_— ——

15041—-014 15041015

BiAe B 5h & BRALRR (07.0) E£5T (f0E ) #RF (SW6.0/M4)

Drill Bit and Slide Limited Device (7.0) T-Wrench with Coupling Screw for
Lag Screw Impactor (SW6.0 / M4)

15041-016

BHF=x (M10x 1)
Handle for Impactor (M10 X 1)



M [

15041-017/117

FreL=g (/N / K)
Pointed Awl (small / large)

-t

15041—120,/220,320,/420,/520
45 (02.6/03.2/03.5/04.0/05.0)
Drill Bit (©2.6 / @3.2/ 93.5 / @4.0 / 95.0)

——-—:,—t

156041—-023,/123
E% (08 & ¥6/010 & 38.2)
Screw Guide (08 & @6/ D10 & B8.2)

15041-027 /127
244 (HA5.0/HA6 0)
Tap (HAS5.0 / HA6.0)

15041-130,/230

FTIR =T/ (M6/M10)
Sliding Hammer with Detachable Swing Arm (M6 / M10)

15042—001 BEAE=SFAR (R LT )
Nail Support Handle (Supracondylar)

A

\

15041-118,/218/318/418,/518/618/718/818

SRS T] (07 /08 /09 /010 /011 /012/013 /014)
Rigid Reamer(@7 /08 /09 /010 /011 /12 1013 [014)

15041—321 /421
Fh & PRAIAS (03.5/04.0)
Drill Bit and Slide Limited Device (3.5 /4.0)

15041—-025
B A E AT
Stabilizing Rod

15041-028

TR AT (SW3.5)
Screw T-Wrench (Hex, SW3.5)

e

15041-031/131 FT#&E&E (/N / K )
Adapter for Extractor (small / large)

000000 00000000 — —Sle

15042-002 S#F ( #REST )
Guide Bar (Supracondylar)

15041-019/119
545t (02.0x500mm /@2 .5 x 600mm)
Guide Wire (€2.0 X 500mm /©2.5 X 600mm)

15041-022

T 21 R $h (05.0)
T-Drill Bit (95.0)

15041—-026
MR (20 ~ 90mm)
Locking Screw Depth Gauge (20~90mm)

15041-029,/129
L BN AT (SW2.5/SW5.0)
Screw L-Wrench (SW2.5 / SW5.0)

|

[E——-——

15041032

PIETER L 28 (M8 x 1 £ )
Locking Screw Extractor (M8 X 1, Left)

15042—003 T RUEHF 28 (©8.5)
T-Awl (98.5)

WASTON TEZ




5 3
%Fﬁ EMIEFEEH Instrument Product

15042—-004,/104 15043—001 BAZE (RS ) 15043-002 iFRE LA (RS )
T BERFIRTF (SW6.0) Nail Support Handle (Tibial) Proximal Outrigger (Tibial)
T-Nut Driver (SW6.0)

q Q':'g.l‘-’.A.—'{ﬁ.- ----23 ’ ’
15043—003 & (M12x1.5) 15043-004 S4T ( [2 8 ) 15043—005
Outrigger Locking Screw (M12 X 1.5) Guide Bar (Tibial) mimE AR S (BT

Distal Outrigger (Tibial)

— S —

15044—001 15044—002 B X124 15044—003 T\ $E
FERTW (LT ) Locking Rod (Humeral) Hammer
Nail Support Handle (Humeral)

15044—004 15044—005 15044—006
REFT NI = RNFAETF (SW2.5) FARF (12mm)
Inner Part Inserter / Extractor Screwdriver (Hex, SW2.5) Wrench (12mm)



WASTON

M E D I C A L

15041 fg® /35 / ERBEASTREFARSEM S 1)

Femoral / Gamma / Reconstruction Intramedullary Nails Instruments (3 in 1)

MRS
Product No.
15041—-001
15041—002
15041—-003
15041—104
15041—005
15041—006
15041—-008
15041—109

15041—-110,/210

15041-011,/311,/411 /511
15041—-012
15041—-013
15041-014
15041—015
15041-016
15041—-117

15041-218,/318,418/518/618/716/818
15041—-019

15041—-420,/520
15041—421
15041—-022
15041—-123
15041—-025
15041—026
15041-027
15041—028
15041-029,/129

15041—-230
15041—131
15041—032
15041—000
%15041—034

BB AR

FiERR TR

ST

T

M Z1E (M10)

S1T8i% (M6)

X (M8)

T B EAAT (05.0)
THAEE (011/09.2)
AL EEE (08/09)
$hE (02.7/04.2/05.2/07.1)
ey St (92,5 x 250mm)
TR (50 ~ 110mm)
M6 & BRALEE (07.0)
5T (f0E ) $RF (SW6.0&M4)
EFFEE (M10)

Frlsg (K)

SEIR4T) (08/09/010/011/012/013/014)
S4%t (02.5 % 600mm)

45 (04.0 /05.0)

Bh RALER (04.0)

T B KL (05.0)

£% (010/08.2)
HATEMIT

MR=& (20 ~ 90mm)

244 (HA6.0)

T BXAIRTF (SW3.5)

L X FAIRF (SW2.5/SW5.0)
FTE B FH (M10)

T =8

PISTELH B8 (M8 ZJE )
BWE

ik (08 ~ 014.5)

Product Name

Nail Support Handle

Guide Bar

Distal Outrigger

Locking Rod (M10)

Guide Bar Locking Screw (M6)
Outrigger Locking Screw (M8)
T-Handled Stabilizing Rod (95.0)

Screw Guide (@11 /29.2)

Soft Tissue Protector (08 / ©@9)

Drill Guide (92.7 / @4.2/ @5.2/ @7.1)
Threaded Kirschner Wire (©2.5 X 250mm)
Depth Gauge (50~110mm)

Drill Bit and Slide Limited Device (97.0)
T-Wrench with Coupling Serew for Lag Screw Impactor (SW6.0/M4)
Handle for Impactor (M10)

Pointed Awl (Large)

Rigid Reamer (08 /09 /010 / @11/ @12/ @13/ B14)
Guide Wire (92.5 X 600mm)

Drill Bit (94.0 / @5.0)

Drill Bit and Slide Limited Device (94.0)
T-Drill Bit (95.0)

Screw Guide (910 / @8.2)

Stabilizing Rod

Locking Screw Depth Gauge (20~90mm)
Tap (HA6.0)

Screw T-Wrench (Hex, SW3.5)

Screw L-Wrench (SW2.5/SW5.0)

Sliding Hammer with Detachable Swing Arm (M10)
Adapter for Extractor

Locking Screw Extractor (M8 Left)
Instrument Case

Soft Drill Bit (08~@14.5)

_

o+ AR TH

Instruments with * are selectable

1E

A
AR




Instrument Product

15042 iz BER LBEASTRVE F R

Femoral Supracondylar Intramedullary Nails Instruments

MRS
Product No.
15042—001
15042—002
15042—003
15042—004
15041—-003
15041—104
15041—-005
15041—006
15041—-008
15041—-009
15041—110

15041-211/311 /411
15041—-117
15041-318/418/518/618,/716/818
15041—-119
15041-320,/420,520
15041—-321 /421
15041—-022
15041—-025
15041—026
15041-027/127
15041—-028
15041-029,/129
15041—-230
15041131
15041—032
15042—000

BB R

FESRTAA (B8R LE4T)

S+ (R LEET)

T #UEH7L =% (08.5)

T BRIEFIRTF (SW6.0)

17 ity i A S 2R

M E 8 (M10)

SiFaike (M6)

T g% (M8)

T B EAAF (05.0)
THEE (010)
BAR 5 ERS (08)

$hE (03.7/04.2/05.2)
FrLEE (KX)

EEET] (09/010/011/012/013/014)
S5t (02.5 % 600mm)

%5 (03.5/04.0/05.0)
5 APRALRE (03.5/04.0)
T #F JEEh (05.0)
EAEMIT

JR2E (20 ~ 90mm)

224 (HA5.0/HA6.0)

T BN AKRT (SW3.5)

L BN AIRF (SW2.5/SW5.0)
T B FH (M10)

Tz (K)

PIETERH 28 (M8 ZJE )
#TWE

Product Name

Nail Support Handle (Supracondylar)
Guide Bar (Supracondylar)

T-Awl (08.5)

T-Nut Driver (SW6.0)

Distal Outrigger (3 in 1)

Locking Rod (M10)

Guide Bar Locking Screw (M6)
Outrigger Locking Screw (M8)
T-Handled Stabilizing Rod (95.0)

Screw Guide (910)

Soft Tissue Protector (@8)

Drill Guide (93.7/04.2/@5.2)

Pointed Awl (Large)

Rigid Reamer (99/010/011/012/@13/014)
Guide Wire (02.5 X 600mm)

Drill Bit (93.5/@4.0/@5.0)

Drill Bit and Slide Limited Device (93.5/04.0)
T-Drill Bit (25.0)

Stabilizing Rod

Locking Screw Depth Gauge (20~90mm)
Tap (HA5.0 / HA6.0)

Screw T-Wrench (Hex, SW3.5)

Screw L-Wrench (SW2.5/SW5.0)

Sliding Hammer with Detachable Swing Arm (M10)
Adapter for Extractor (Large)

Locking Screw Extractor (M8 Left)

Instrument Case




WASTON

M E D I C A L

15043 B2 ERENFTREF AR5

Tibial Intramedullary Nails Instruments

MRS
Product No.
15043—-001
15043—002
15043—003
15043—004
15043—005
15041—004
15041—-006
15041—-008
15041—-110

15041-311/411
15041—117

15041-118/218/318/418/518

15041—-420,/520
15041—-421
15041-022
15041—-123
15041—-025
15041—026
15041—-127
15041-028

15041-029,/129
15041—130
15041—131
15041—032
15043—000

BB AR

MAESRTH (RE)
AR (RE )
BiEg (M12)

ST (RE)

minfE AR (RE )
M E 2 (M6)

H P (M8)

T B ERAT (05.0)
BHBAL 5 ERE (08)
$hE (04.2/05.2)
FFrLag (K)

SR 7] (07/08/09/010/011)
s (04.0/05.0)

B h FRALER (04.0)
T B JR$h (05.0)
£%& (010/08.2)
BAEMIT

MxR=E (20 ~ 90mm)
224 (HA6.0)

T BI7XART (SW3.5)
L BUSMAIRF (SW2.5/SW5.0)
FTR 28 F1A (M6)
Iz (X))
SIETEE B8 (M8 ZjiE )
BHE

Product Name

Nail Support Handle (Tibial)

Proximal Outrigger (Tibial)

Outrigger Locking Screw (M12)

Guide Bar (Tibial)

Distal Outrigger (Tibial)

Locking Rod (M6)

Outrigger Locking Screw (M8)
T-Handled Stabilizing Rod (95.0)

Soft Tissue Protector (98)

Drill Guide (94.2 / 95.2)

Pointed Awl (Large)

T-Rigid Reamer (07 / @8 / @9 / ©10 / @11)
Drill Bit (94.0 /05.0)

Drill Bit and Slide Limited Device (94.0)
T-Drill Bit (95.0)

Screw Guide (910 / @8.2)

Stabilizing Rod

Locking Screw Depth Gauge (20~90mm)
Tap (HA6.0)

Screw T-Wrench (Hex,SW3.5)

Screw L-Wrench (Hex, SW2.5 / SW5.0)
Sliding Hammer with Detachable Swing Arm (M6)
Adapter for Extractor (Large)

Locking Screw Extractor (M8 X 1, Left)

Instrument Case

1E

A
AR




Instrument Product

15044 BLBRENSTREF AR5

Humeral Intramedullary Nails Instruments

B S
Product No.
15044—001
15044—002
15044—003
15044—004
15044—005
15044—006
15041-010
15041—111
15041-017

15041-118,/218,/318
15041-019
15041—221
15041-023
15041—028
15041—-029
15041—130
15041—031
15041—033
15044—000

AR R R

AT (LE )
mEER (KT )
FINGE

R FT NI 28

RN AEF (SW2.5)
FO#HRF (12mm)
AR B2 (06)
¢hE (03.3)

Frlas (/)
BRER T) (07/08/09)
B4t (92.0x500)
454 (03.2)

£% (08.0 &06.0)

T BXART (SW3.5)
L BUSARTF (SW2.5)
FIIRBFHA (M6)
FTHREe (/)
TRIRLE T] FHA

BWE

Product Name

Nail Support Handle (Humeral)
Locking Rod (Humeral)
Hammer

Inner Part Inserter / Extractor
Screwdriver (Hex, SW2.5)
Wrench (12mm)

Soft Tissue Protector (26)

Drill Guide (93.3)

Pointed Awl (Small)

Rigid Reamer (97 / 08 / ©9)
Kirschner Wire (92.0 X 500 )
Drill Bit (@3.2)

Screw Guide (98.0 & @6.0)
Screw T-Wrench (Hex, SW3.5)
Screw L-Wrench (Hex, SW2.5)

Sliding Hammer with Detachable Swing Arm (M6)

Adapter for Extractor (Small)
Quick Coupling Reamer Handle
Instrument Case




WASTON 28

M E D I C A L

BRPITEERNST (&3] / HES]) =/

Universal Retrograde Nail (Fibular / Radius) Instruments

—— - S  — —— - S ——

15057—101 &4 (©2.0) 15057—201 S45 (@1.5)

15046—013 B8R

Drill ( 92.0) Drill (91.5) Measure Gauge
4:.:_ b.
156064—-014 15046—004 15046—006
ST T (SW2.0) 24t (@1.5%300) ¥ 7L%4 (06.0)
Screw Driver (Hex/SW2.0) Triangle Kirschner Wire (01.5x300) Reamer (06.0)

e e

15046—-003 /103,203,303 15046—-008 15046—-011
¥ BE%h (03.5/04.0/ ©4.5/ @5.0) Fried MRR
Rigid Reamer (03.5/04.0/04.5/05.0) Hammer Depth Gauge
Qe ] — WD g
15046012 FF#L=% 15007—-020,203 15046—-010
Awl RIBEFH / MGRETF FETE R
Screw Driver (Square) Extractor
15046—-001
L THEYRE A =
Outrigger (Fibular)
15046 BRAFEITHENST (HEEST / HEB$T) F/WE
Universal Retrograde Nails (Fibular / Radius) Instruments Set
S BB R Product Name HE
Product No. Qty
15057—101 B (02.0) Drill ( 92.0) 2
15057—201 H$h (01.5) Drill (91.5) 2
15046—-013 VAN Measure Gauge 1
15064—014 S F (SW2.0) Screw Driver (Hex/SW2.0) 1
15046—004 £4t (01.5x300) Triangle Kirschner Wire (01.5%300) 2
15046—006 ¥ ¥#L%5 (26.0) Reamer (96.0) 1
15046-003/103/203/303| ¥ B&%h (©3.5/04.0/04.5/05.0) Rigid Reamer (23.5/04.0/04.5/05.0) £
15046—008 FIa5E Hammer 1
15046—011 TR Depth Gauge 1
15046—012 FF5L2% Awl 1
15007—020,203 RIEF / UTRF Screw Driver (Square) 1
15046—010 FETBUL 2R Extractor 1
15046—001 TR R AR Outrigger (Fibular) 1
15046—000 BWE Instrument Case 1




TRERIA™ R

Instrument Product

BRFITRERNET (F8145T ) FARIM

Universal Flexible Retrograde Nails Instruments

§ AR
15047—-001 15047—-002
HEYT &S PEFTEeR
Straight Impactor Beveled Impactor

N o ——

15047—004 15047—005
RF (04.5) FILE®
Wrench (@4.5) AWL
15047—-007 15047—-008
N HrET R
Inserter Cutter
——
15047—-010 15057—001
=R%KRTF T (02.7)
Triangle wrench Drill bit (02.0)

15047 BRFITREMST (381457 ) FRFWE

Universal Flexible Retrograde Nails Instruments Set

|| ==

15045—012
TE R
Fixed Hammer

15047—006
T

Extraction plier

Sa—— )
15047—-009
TEREIRTF

Rotatable wrench

AR S

15047-001
15047-002
15045012
15047—-004
15047—-005
15047—-006
15047007
15047008
15047—-009
15047—-010
15057-001
15047—-000

Product No.

AR TR

BHRFTHERR
NEFTH 8
&l € £

RF (04.5)
FFILEH#H
FrETEH
AR
WrET 2%
hesE ik F
=1&KRF
Fh (02.7)
=WE

Straight Impactor
Beveled Impactor
Fixed Hammer
Wrench (©4.5)
AWL

Extraction plier
Inserter

Cutter

Rotatable wrench
Triangle wrench
Drill bit (02.7)
Instrument case

Product Name

R NG Y NG G G




